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Q.1 (A) Explain time complexity.
Q.1 (B) Explain space complexity.

Q.1 (C) Explain Big Omega notation in detail.
OR

1 o\
Q. Q-A) What is command line argument? ‘E\%plain with suitable example.

Q. g_\(_'B) Explain Big-Oh notation. C}j
Q. {‘(\C) What is algorithm? Explain varlou"S\iypes of algoritms.

. ('D
Q. 2—(A) Explain fopen(),fclose(),fscanf() with suitable syntax.
Q5B)  Explain bubble sort with suitable &xgmple
Q. Q\(C) Write an algorithm of quick sort. <L
o Y OR
Q.2(A) Explain insertion sort with suitable example.
Q.2(B) Explain merge sort with suitable example.
Q2(C) Writean algorithm of bucket sort.
C\! N
Q. 3«{:(\) What is searching? Explain blnargéarch with algorithm.

Q.I®) Give the difference between primi C\Xe and non premitive data structure.

Q. B~(-C)

L -

Q.QA) Write a program to perform bubblf-gort
Q.3(B) Write a program to perform bmary_search
Q.EI(C) Write a program to perform selection sort.

Explain selection sort with algorith.and example.
< OR

Q.4 (A) What is stack? Explain its various operation.

Q4 (B)
Q4(©)

What is queuc? Explain its various operation.
What is circular queuc? Explain its various operation.
, OR

Q.4 (A) Writean algorithm of push and display operation of stack.
Q.4 (B) Writean algorithm of insert and display operation in queue.
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Q4(C)  Explain recursion of stack.

§
Q.3(A) Write a short note on single Tink list.
(.5 (B)  Explain header link list with suitable example. !
Q5(C) Write a short note on double link list. ¢
OR J
Qé{A) What is tree? Explain various property of tree.
0.5__113) What is binary trec? Explain, < :—}’ :
QE(C) What is graph? Explain various gg;h traversal with suitable eXample, O :
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